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ANSWERS / RUBRICS

Question No: 11

a) What is meant by scarcity? (2 Marks) www.schoolbasedassessment.pk
(2)?9;1/.@4&5
Rubrics: Award two marks for the correct answer. J}/uévliwn‘b{/u

Model answer: When resources, goods, and services are less 2w . P L ..
than what people need, people find it difficult to meet their ’J/U’Q’Jun{LWL:’J’/Ju’QQLMMy‘J V’b’)"b’"ﬁ@"{

needs. This situation is called scarcity. Lok ’Ul’%’*ﬂ’w-wd’J:‘f’b"*w”ufé—/d/{ﬁdk/’/@’

Your father uses a motorcycle to go to the office. Suddenly the price of petrol increases. How would your father deal with this situation
using economic choice? (2 Marks)
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Rul:lri::s: Award two marl;slior the correct afnswer.l o | _u;/»z:_,uzu/;:.f/.u
Model answer: In view of the rising price of petrol, my father wi P . . s 1, i ) ..
use an alternative which is not affected by the rising price of KLQ/JWUU.}V‘%'}’ gjoéb;{u”/,d/dﬁ/?ﬂbgﬁ:?«lﬁﬁ.y’
petrol. Like using a bicycle or using public transport. -Ji K_wyju,@ww KJ{/ LSl e o Uwﬂ;d’/’:

How you can explain interdependence from the following image? (6 Marks)
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Rubrics: Award two marks for correct explanation of each step. .
Model answer: Farmer grows sugarcane and sells it to the sugar ‘Q}/’)L‘:&L”M”J&/ﬁ'“&”

mills, in exchange for which he receives capital from which the a»:t/é’jhﬁfécf?‘él%)@)@'/’/;f—’ﬂ"LMU@wy’ﬁW—/
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farmer can meet his living needs. A sugar mill processes &ugﬁf L/u”’l/JZJfﬁ_‘ab/d/gfwagﬂ/wuuf¢&+

sugarcane into sugar and sells it to shopkeepers for capital. And leé?ut?.ﬁrud“gm-aﬁ;/&;/'/uuuubu"fzi,u/um

the sugar reaches the common consumer. This is an example of ) T Jodid Lﬂf'lb’L ‘
- ~y

interdependence.
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Question No: 12

a ) Write any three measures for the conservation of rare animals. (3 Marks)
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Rubrics: Award one mark for each correct measure.

Model answer: 1) Increase in forests Sl e B2(1 :.,IKKL/
2) Ban on hunting of rare animals Sl 2 U2
3) Increasing people's knowledge about rare animals JutuﬁgLPJuf)u:;/géuuilg?gm

What are the effects of the depletion of natural resources on the environment? (3 Marks)
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Rubrics: Award one mark for each correct effect.
Model answer: 1. Due to the lack of water, the land will become

barren. -JLtgn}'uﬁjcfd/&g_l:*lﬁKL/
2. Animals and birds cannot survive due to a lack of forests. _ZEMU.*;’D;JL;H,U;@QJJ&&_Z
3. Energy crisis is created due to the depletion of underground -‘Ll?nby:,.u%lv/&t'?c;({d/)/:’/ﬂﬂJf:J{Jﬁ"c«ywmruﬁuﬁJJ

minerals like gas, oil, and coal.

Identify rare and extinct animals from the given list. (4 Marks) WwWw.Schoolbasedassessment.pk
Black deer, Wild ox, Markhor, Dodobird
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Rubrics: Award one mark for each correct identification. oA K&Cﬁuuﬁ:Jzu

Model answer: Rare animals: Black deer, Markhor ISy T AT { P A
. . . . ( .

Extinct animals: Wild ox, Dodobird ;”/,»”;é’quf?:u’lg&t

Question No: 13

a ) Define ecosystem and give an example. (2+1=3 Marks)
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Rubrics: Award two marks for the correct definition and one

mark for the correct example. “Z’/’/“’g’KJVM/M'/”L"%/:‘/”:J/'”
Model answer: All living and non-living things in a place interact z—ﬁi’l’f’/,#—/”vg‘f?’c)l?,L/ﬁ'/’JU%(VL‘?//.,&J&,«‘KQ—J’
with each other. It includes plants, animals, birds, insects, water, fu’l-ungf?o/f,&”mufb?c(}&:gu/‘ng,c/“uﬂ?‘g_,guf.‘m-ug
rocks and soil, etc. It is called an ecosystem. Different types of KJ,}L'{[L’}-‘Lt‘nJ@ﬂEJ&yiLKu»ﬂgL(”J@-uf:&/ﬂbﬂ&yit

animals have different ecosystems. For example, the ecosystem . . PR
e / P d cetnl e UL Zredysy
of a frog is different from the ecosystem of a tiger. ‘ * *

Which characteristics are found in the leaves of plants found in cold regions? (3 Marks)
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Rubrics: Award three marks for the correct answer. www.schoolbasedassessment.pk

Mo.delanswer: Plants found in c?ld regions have thin ?nd _ujLﬁ/lﬂulb{/L’Z_Lu»gLI:Z_lpLLuﬁufw;/:ulﬁgé_/
pointed leaves. They have cones instead of flowers which are T i s ’

closed in cold weather. Cones bloom in warm weather and their c‘,ul”’(u:(r(/'//.uw’uxcuﬁ(m/ﬁwdm/;'l{.}fuﬂ;%uﬁul
seeds are dispersed to cause reproduction, such as pine. -Zﬂ’u}"é.%gwy’f’//‘(@ﬂ’
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Write any two differences between forest and desert habitats. (2+2=4 Marks)
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Rubrics: Award two marks for each correct difference.

Model answer: Forest: A forest is a large area covered with
green trees and plants. There are different types of forests that
depend on different factors like soil, climate, and water. Various
types of animals (lion, monkey, giraffe, etc.) and trees (pine,
cypress, acacia, etc.) are found in the forests. Forests are the
habitat of these animals and plants.

Desert: The desert is mostly sandy, hot, and dry area. The night
is relatively cool. There is very little rain in the desert. Hence
there is a scarcity of water. Only those animals and plants can
survive in the desert that can withstand the harsh climatic
conditions of the desert. For example camel and ostrich, etc.
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